VOLUMETRIC WEIGHT

The chargeable weight of a consignment is either the actual weight or the volu-
metric weight,

whichever is the greater.
To calculate the volumetric weight (in kilos), you need to multiply the three di-
mensions (in

centimetres) of your package and then divide the total by 6000.

Height (cm) x Length (cm) x Depth (cm) divided by 6000
= volumetric weight in kgs

If the measurements are given to you in inches, you must use the same formu-
la, except you divide by 366 (not 6000).

Height (inches) x Length (inches) x Depth (inches) divided by 366
= volumetric weight in kgs
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